YEAR 12 PRACTICAL HW EXERCISE 4 MS

Analysis
Graph:

all points plotted correctly



Smooth, straight line of best fit



(both = 1)



Straight before addition



Extrapolation is natural extension



Temperature rise correctly read



(all = 1)

1.
11.2-11.4 oC







(1)
2.
2.34 – 2.48 kJ







3.
(a)
0.0191 moles






(b)
0.0200 moles






(all = 1)
4.
2.34/0.0191
= -122 to -125 kJmol-1



(1)
5.
Balance

=
0.80%

pipette 


=
0.20%

Thermometer

=
0.88% based on 11.3o 


Total


=
1.88% 




(all = 1)
Precision:

temperature to 1 dp



q to 3sf




molar enthalpy change to 3 sf



(all = 1)
Nomenclature:

clear calculations with logical layout




Units and terms used correctly


(both = 1)
Evaluation
1.
ignore results at 5 and 8 minutes

other results on a decent straight line
technique good






(all = 1)
2.
97 
97/219 x 100
=
44.3%





(both = 1)
3.
Heat lost is main source of error




(1)
more lagging /better calorimeter




(1)
4.
temperature rise too small





(1)
use higher concentrations





(1)
or

original temperature of acid and alkali unequal


(1)

equilibrate reagent temperatures




(1)

or

reaction too slow






(1)

use excess zinc






(1)
